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Psi at infinity [a.u.]

Shooting method program
#define hbar 1.05459e-34  /* TSV U EHK */
#define m 9.109534e-31 /* AEPDEFDEE */
#define e_0 1.60218%¢-19 /* BEBRZEE */
main()
{ S >
float  dE=le-3*e_0; /¥ TRIVF—DIES; dE*/
float  dx=le-10; /*ERDFRESD; dx*/
float E; /* the energy E */
float psi@,psil,psi2; /* psi(x-dx), psi(x), and psi(x+dx) */
float x; /* JEE*/
for(E=0;E<e_0;E+=dE)  /*IRILF—%ZohSLElLEEB*/
{
psi0=0;psil=1; /* R ENEREL D FNHA(E */
for(z=dx;x<100e-10; x+=dx) /R EZEIL TS ; YIHREX=0+dx*/
{
psi2=C2*m*(dx/hbar)*(dx/hbar)*
(e_0*(x/100e-10)*(x/100e-10)-E)+2)*psil-psi@; /*Shootingikx TPsi2& KB */
psi@=psil; /*EEEED T by */
psil=psi2;
}
printf("E=%fmeV psi(infty)=%f¥n",E/(le-3*e_0),psi2); /*ERDH FImevVEAI+/
}
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Energy s.t. psi@infinity=0 [meV] : 58.5, 136.5,214.5,292.5, 369.5,447.5,524.5,602.5, 679.5,756.5
E_n/(n-1/2) [meV]: 39.0, 39.0, 39.0, 39.0, 389, 389, 389, 389, 388, 388
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HRMHRINT > 2 v ILiInhOEFIRE (SIREE)

1 #include <stdio.h>

2 #include <math.h>

3

4 main()

5 {

6 double psi at inf(); /* r=o COEIRAMDFEREMDME psi(o,E) */

7 double dE=5.0e-6; /* TRILE—DIED */

8 double dummy; /* dummy */

9 double E; /* the energy E in Hartree */

10 double E evV; /* the energy E in eV */

11 double E_soln; /* the solutions for the energy E */

12 double Y1,Y2; /* psi(w,El), psi(w,E2) */

13

14 Yl=psi at inf(-0.7,0); /* IRJLF—DIHEHME (T DIFEIF-0.7 Hartree) TOREIREHDIESE S */
15

16 for(E=-0.7+dE;E<0.0;E+=dE) /% TRIF—FERI—TDRRE ; E=0FTRAF vy */
17 A

18 Y2=psi_at inf(E,0); /* calculate next value */

19  if(Y1*Y2<0.0) /* Y1*Y2DBICHRD— psi(»,E) DN EOE#ET >z */

20 {

21 E soln=fabs(Y1)*dE/(fabs(Y1l)+fabs(Y2))+E-dE; /* psi(w,E)=0&RDIXRILF— ;Y1 EY2QOERFEY */
22 E _eV=E soln*27.2116; /* Hartree[RFEAI—eVEL */

23 printf("E=%fev\n",E _eV);

24 dummy=psi_at inf(E,1); /* print out wave function */

25}

26 Y1=Y2;

27 }

28

29 } /* end main */

30

31 /* BREHOEER +/

32

33 double

34 psi_at inf(E,flag) /* r=o COEEFTEDKEBHDIE psi(o,E)ZFETDIL—F > */
35

36 double E; /* the energy E */

37 int flag; /* RERSENFD 7 v | flag=17%5print out  */

38 |

39 double V(); /* IRT> v )LEBEK */

40 double dr=0.0050; /* shootingiElCHFBrDiESD ; Or */

41 double psiO,psil,psi2; /* psi(z-dz), psi(z), and psi(z+dz) */

42 double r; /* ¢ */

43 double m eff; /* BHMEE (m Z 84D */

44

45 m eff=1.0; /* BHEE (COBEFEEFDOEFZEE) */

46  psi0=1.0;psil=1.0; /* shootingi ; (U6 D 2 ROAIHAE */
47 if(flag)printf£("0.000000 %f\n",psiO); /* first point */

48  for(r=dr;r<30.0;r+=dr) /* rD¥Mldr=0r:r=30 a.u. (c.a.16 &) FTAFr> */
49 |

50 if(flag)printf("%e %f\n",r,psil); /* print wf */

51 psi2=(r*(2.0*m eff*dr*dr*(V(r)-E)+2.0)*psil+(-r+dr)*psi0)/ /% shootingEDFILTYU XL */
52 (r+dr);

53 psil=psil; /* SERZYT N */

54 psil=psi2;

55 }

56

57 return(psi2); /* psi(w,E)DEZ XA VI)L—FVICIERT */
58 }

59

60

61 double

62 V(r) /* RTY2v LBBOESR (CORDEEEITNE, EROIRNIMNGERT > > v JUITEFRTRE */
63

64 double r;

65 {

66 return(-1.0/r); /* KBRFORTV v )L (V—AV5IHRTYIvIL) */

67 }
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RIREF Ry bORBIRE

GaAsDBEZNEE (BEF)=0.067 x m,
LEFDINRATEYR=167 meV

—>» EFRYPOAZTIE V=-0.167 eV
EFRYLOMATE V= 0.0 eV

BFRYRD¥EE=12.0 nm = 226.8 a.u. (atomic unit)

TO7SLRRTUIv)LEnZESBANIERW

double
V(r)
double r; /* spatial coordinate */
{
if(r<226.8) /* 226.8 a.u. = 12 nm ; radius of QD */

return(-0.167/27.2116);
else
return 0.0;

dE=1.0x10¢Hartree

dr=0.05 atomic unit

m_eff=0.067 m,
IXILF—OYHEAE=-0.167/27.2116 Hartree
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